Multiply by 10" (E)

Find each product.

6.083 x 101 = 6.7 X 101 =
3.617 x 10 = 1.7242 x 10t =
8.62 x 10 = 4.03 X 10t =
7.6 x 101 = 1.55 x 10! =
4.06 X 10 = 9% 10 =

9.6 x 101 = 5x 10! =
6.417 x 101 = 228 %x 10! =
9.78 x 10 = 1.36 X 10! =
419 x 10 = 72 % 101 =
3x 10 = 4751 x 101 =
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Multiply by 10" (E) Answers

6.083 x 10" = 60.83

3.617 x 10* = 36.17

8.62 x 10' = 86.2

7.6 X 10' =76

4.06 X 10 = 40.6

9.6 x 10' =96

6.417 x 10" = 64.17

9.78 x 10' =97.8

419 x 10' =41.9

3x10'=30

Find each product.

6.7 x 10* = 67

1.7242 x 10* = 17.242

4.03 x 10* =40.3

1.55 x 10* = 15.5

9 x 10* =90

5% 10 =50

2.28 x10'=22.8

1.36 x 10' =13.6

7.2x10'=72

4,751 x 10* =47.51
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